

(イ)  $(a+c)^2 - 4(ac-b^2) = a^2 + 2ac + c^2 - 4ac + 4b^2 = (a-c)^2 + 4b^2 \geq 0$  より、題意は示された。

(ロ) 方程式の解は  $\frac{a+c \pm \sqrt{(a-c)^2 + 4b^2}}{2}$  であるから、 $\alpha = \frac{a+c}{2} - \frac{\sqrt{(a-c)^2 + 4b^2}}{2}$ ,  $\beta = \frac{a+c}{2} + \frac{\sqrt{(a-c)^2 + 4b^2}}{2}$

よって、 $\frac{\{(a-c)(p^2-q^2) + 4bpq\}^2}{4(p^2+q^2)^2} \leq \frac{(a-c)^2 + 4b^2}{4}$  ① が成り立たないならば、 $\rightarrow$  右に  $\alpha \leq r \leq \beta$  が成り立つ。

①は  $(a-c)^2(p^2-q^2)^2 + 8(a-c)(p^2-q^2)bpq + 16b^2p^2q^2 \leq (a-c)^2(p^2+q^2)^2 + 4(p^2+q^2)^2b^2$

$(a-c)^2(p^2+2p^2q^2+q^2 - p^2-2p^2q^2-q^2) - 8(a-c)(p^2-q^2)bpq + (4p^4+8p^2q^2+4q^4 - 16p^2q^2)b^2 \geq 0$

$4(a-c)^2p^2q^2 - 8(a-c)pq(p^2-q^2)b + 4(p^2-q^2)^2b^2 \geq 0$

$\{(a-c)pq - (p^2-q^2)b\}^2 \geq 0$  と変形できるから、①は成り立つ。

②に、 $\rightarrow$  右に  $\alpha \leq r \leq \beta$  が成り立つ。